Individual assignment 2

2.1 Content of assignment

Individual assignment 2: (hand in week 4)

Phase 1,2,3 of  the ethical cycle:

· Moral problem statement

· Problem analysis

· Options for action

Phase 4 of the ethical cycle: 

· Intuition

· Utilitarianism 

· Bentham

· Mill

2.2 Case:  “Fire Detectors” 

Residential fires cause many deaths each year. Several companies manufacture fire detectors in a highly competitive market. Jim is a senior manager at one of these companies. He has been invited to discuss with the management team the directions his company should take in manufacturing and marketing fire detectors. 

Jim knows that there are two basic types of fire detectors. Type A is very good for certain types of fires, but for smoldering fires the detector will delay the alarm too long or fail to detect the fire at all, sometimes resulting in the loss of life. Most companies still manufacture type A because it is cheap to build and generally performs well. Type a sells for $6 to $15. 

Type B detectors combine Type A fire detecting abilities with a device for detecting smoldering fires, which constitute about 5 percent of all fires. Type B detectors sell for $15-30, but they could be sold for almost the price of type A detectors if they were manufactured in large quantities. In order to bring this about (short of government intervention prohibiting the sale of Type A detectors), many companies would have to decide that, in the interest of greater public safety, they will sell only Type B fire detectors. 

There is little evidence that this is going to happen. As things stand, most companies either manufacture only Type A detectors, or at lest depend on Type A detectors for the vast majority of their profit. Relatively few Type B detectors will sell under present market conditions. However, we do not know for sure what the actual effect of a company’s example of selling only type B detectors would be. It might stimulate other firms to follow the example, or it might cause the government to outlaw Type A detectors. 

Jim’s company could still stay in business if it manufactured only Type B detectors, because there is some market for them and fire detectors are only one of the products manufactured by Jim’s company. Jim takes seriously the manager’s responsibility to hold paramount the safety and welfare of the public. He wonders what this obligation implies in this situation. 

Source: http://www.uprm.edu/etica/PDF/Ethics%20Bowl/Ethics_Bowl_Cases_Fall_2002.pdf 

QUESTIONS

2.3 Problem statement

Question: Formulate short and brief the problem of this case. Instruction: Read the case. Pick the problem for analysis and, based on this, formulate a problem statement.

It must clearly state:

· What the problem is

· Who has to act (the problem owner)

· The moral nature of the problem

2.4 Problem analysis

Question: 

· State the 5 most important stakeholders and their interests.

· Which interests conflict with each other?

· State the relevant, uncertain and possible missing facts you need to solve this problem. (you may make assumptions)

2.5 Options for action

Question: The problem owner of your choice has several options in this case. Make a list of actions out of which he could choose. State three different options.

2.6 Ethical Evaluation – Intuition

Question: Based on your intuition, what would you do?

2.7 Ethical evaluation - Utilitarianism

Question: What would Jeremy Bentham say? List all stakeholders and  their different interests for three options and score these - for example from 1 (being negative) to 5 (being positive). Which option would be regarded as the best according to utilitarian principles?

Question: Do you think that John Stuart Mill would come to another conclusion? Why or why not?

2.8 Reflection

Would these theories help you (Jim)  in choosing any of the options? If yes explain why, if not explain why not. Elaborate! 

Hand in this assignment at the end of next lecture!

